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SECTION A-A

AXIS OF ROTATION

NORMAL CROWN SECTION B-B
EXAMPLE NO. 1 <OLUTION NO. 1 FULLY SUPERELEVATED CROWN

GIVEN: RURAL TWO LANE HIGHWAY (a) CALCULATE MINIMUM L: MIN L=0.56(V)
DESIGN SPEED=100km/h FOR V=100km/h, MIN L=0.56(100)=56m
R=800m, TO THE RIGHT (b) CALCULATE L: L=(CHNG CS) (CRIT W)/ (MAX REL G)
¢ IS ROTATION AXIS MAX REL G=0.45(FROM TABLE 2-8)
MAX. e=8 PERCENT L=[-2-¢+5.7)][3.6]/[0.45]

L=62m

FIND: MINIMUM LENGTH OF SUPERELEVATION

(c) COMPARE (a) TO (b)s; USE LONGER VALUE
TRANSITION, L

L=62m
¢ W=10.8+3.6=14.4
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NORMAL CROWN
EXAMPLE NO. 2 FULLY SUPERELEVATED CROWN

SOLUTION NO. 2
(a) CALCULATE MINIMUM L: MIN L=0.56(V)

GIVEN: URBAN SIX-LANE FREEWAY
DESIGN SPEED=100Kkm/h

R-1200m, TO THE LEFT FOR V=100km/h, MIN L=0.56(100)=56m
¢ IS ROTATION AXIS (b) CALCULATE L: L=(CHNG CS) (CRIT W)/ (MAX REL 0)
MAX. €=8 PERCENT MAX REL G=0.45(FROM TABLE 2-8)
L=[-2-(+4.1)][14.4]/[0. 45]
FIND: MINIMUM LENGTH OF SUPERELEVATIGN L=195m

TRANSITION, L (c) COMPARE (a) TO (b); USE LONGER VALUE

L=195m

DETERMINATION OF LENGTH OF
SUPERELEVATION TRANSITION

Figure 2-3




